Phys 102 - Se Quiz # 9 (Ch, 27)
Name: Kfj ID #

1- A 4 p-F capacitor is chargeﬁ to 24 V. Calculate the charge on the capacitor

4 milli-seconds after it is disconnected from the battery and connected across a
200- Ohm resistor.

% A
G3 7/ (C?,)e Re %)
= (txs)2%4) e

-7
64T Ao C

2- In the figure, if I = 1.5 A in the circuit segment shown, what 1§ the potential
difference Vb-Va?
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§ Four 20-Ohm res1stors are connected in series and the combmatlon is
q— connected to a 20-V battery.

a) What is the current passing in any of the resistors?

l‘°°P rwle et el Wi

. gt 1 "
2c — {(8) = o 28V Q Lo

L] “; ~
{ =z i—a» - 0.5 A
Bo

the  Same for M of them.

b) What is the potential difference across any of the resistors?

V (acrss any register) = 1R = (0-25)(*) ;@





